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Al 55,086 0 55,086
02 QIHEAMAIH B X 196,737 0 196,737
OHIZ2IIZ= O EXIJ ALY 196,737 0 196,737
=2 118,042 0 118,042
(= 23,609 0 23,609
Al 55,086 0 55,086
AN 4 U SHAS 2H 21,110,484 20,477,415 633,069
=2 74,980 71,100 3,880
bl 11,740,400 11,740,400 0
[ 2,119,300 2,140,900 A21,600
Al 7,175,804 6,525,015 650,789
DEZ M AHEX| =d 0 63,000 63,000
[ 0 18,000 18,000
Al 0 45,000 45,000
307 QI2+0|& 0 63,000 63,000
[ 0 18,000 18,000
Al 0 45,000 45,000
02 QIHEAAIHE X 0 63,000 263,000
OLNZEZE 2 MACHK| X4 0 63,000 63,000
< 0 18,000 18,000
Al 0 45,000 45,000
AS54H HIZ XA 797,850 869,400 AT1,550
307 QI2+0|& 797,850 869,400 AT1,550
02 LHEAMAIHB X 797,850 869,400 AT1,550
OS54 HIZ KIRA 797,850 869,400 AT1,550
H gols SSYH NA(THIEX) 55,500 60,000 A4,500
(= 7,500 12,000 4,500
Al 48,000 48,000 0
206 24| 55,500 60,000 24,500
(= 7,500 12,000 4,500
Al 48,000 48,000 0
01 24l 55,500 60,000 4,500
Ol Holls SSYUH =2 PU(SIAXA
2IHl, Healls S) 55,500 60,000 4,500
[ 7,500 12,000 24,500
Al 48,000 48,000 0
H gols SSYH s=2g s XNA(THEX) 119,660 121,200 A1,540
[ 22,700 24,240 A 1,540
Al 9,960 9,960 0
307 QI2+0|& 119,660 121,200 A1,540
(= 22,700 24,240 A 1,540
Al 9,960 9,960 0




A SSHEHL
M SHANMFI 2 SELSE L
el AENE 54 2 S84S5 28 (St &)
SA -3 - SA(3) - MISAY - B85 Oi &k N3 A HwEZ
02 QIZHBAAIYE X 119,660 121,200 A1,540
OH dollEs Ss¢H =&Y ez 119,660 121,200 21,540
= 22,700 24,240 A1,540
Al 96,960 96,960 0
H S2XI2AS 819,000 850,000 231,000
301 LEBEF 819,000 850,000 231,000
14 JIEt2 43 819,000 850,000 231,000
Ol 24l XI& 819,000 850,000 231,000
SAHH &2 XIJAHS 0 10,000 210,000
= 0 2,000 A2,000
Al 0 8,000 28,000
402 QI2HRHE01H 0 10,000 210,000
= 0 2,000 A2,000
Al 0 8,000 28,000
02 QI THEAIE EE(0IMTHE) 0 10,000 210,000
OsXM &2D| K& 0 10,000 10,000
s 0 2,000 22,000
Al 0 8,000 8,000
=2 HMALE Edl X& 21,605 26,775 A5, 170
= 0 5,000 25,000
Al 21,605 21,775 A170
206 M=Hl 21,605 26,775 25,170
[ 0 5,000 25,000
Al 21,605 21,775 A170
01 THZHI 21,605 26,775 A5,170
Oz HMALE X (ZHI=) 21,605 26,775 A5,170
= 0 5,000 A5,000
Al 21,605 21,775 A170
H Misot 2HHE XS K& 1,000,000 475,000 525,000
= 100,000 175,000 275,000
Al 900,000 300,000 600,000
301 Et2E = 1,000,000 475,000 525,000
[ 100,000 175,000 275,000
Al 900,000 300,000 600,000
14 J|Et24 =3 1,000,000 475,000 525,000
OH THbi=ot 2Eetd = X2
500,000 *2,000ha 1,000,000 475,000 525,000
= 100,000 175,000 75,000
Al 900,000 300,000 600,000
JlEE ZxEH (2teldl) 66,400 66,400 0
| 66,400 66,400 0
101 Q124H| 33,000 24,000 9,000
| 33,000 24,000 9,000
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S SRR
Hu: SHAMEX U SEASH Y
&Rl AENY |54 & 58345 22X EEED
SN - BE - SRA(SIH) - NIRAY - BES O] a0 ol & o blnE2
M ORIMZZ2NSE S 33,000 24,000 9,000
Ooditgel & SYEH S g 2| 33,000 24,000 9,000
Jl 33,000 24,000 9,000
201 Ler23 | 30,900 38,400 AT7,500
Jl 30,900 38,400 AT,500
01 Al 2H2IHI 30,900 38,400 A7,500
OZANEHAY £ APEE 72 L 2
g 234l S 30,900 38,400 AT7,500
Jl 30,900 38,400 AT7,500
202 04| 2,500 4,000 1,500
Il 2,500 4,000 21,500
01 =LHNHI 2,500 4,000 21,500
OSAXEMAY SXZAL & E2S =25
1]l 2,500 4,000 1,500
) 2,500 4,000 1,500
= EIAES THHHXIR (& MAZEH) At 38,400 42,000 A3,600
= 3,840 8,400 A4,560
Al 34,560 33,600 960
301 EtE N = 38,400 42,000 A3,600
T 3,840 8,400 4,560
Al 34,560 33,600 960
14 JIEt 243 38,400 42,000 A3,600
= BHA S THOH (A AR IR XA 38,400 42,000 23,600
s 3,840 8,400 24,560
Al 34,560 33,600 960
O=SEXeIE “=AIE wH 140,000 150,000 10,000
== 42,000 45,000 A3,000
Al 98,000 105,000 AT7,000
402 QI2FX+=201 & 140,000 150,000 10,000
= 42,000 45,000 A3,000
Al 98,000 105,000 A7,000
02 QI X2 AL E R (0IETHE) 140,000 150,000 10,000
O0I=&EX2E ==AI4 Wi 140,000 150,000 10,000
= 42,000 45,000 A3,000
Al 98,000 105,000 AT7,000
gl AHIEE ESTAMY 0 40,000 40,000
& 0 12,000 A12,000
Al 0 28,000 /28,000
301 LEIE NS 0 40,000 40,000
= 0 12,000 12,000
Al 0 28,000 A28,000
14 IIEt2 83 0 40,000 40,000
O3g# AHIEE SHHAY 0 40,000 40,000
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SN SYEE)
HY: SMAMEN U SEASH WY
&Rl AENY |54 & 58345 22X EER=E)
SA -3 - SA(3) - MISAY - B85 Off &K N3 A HunsZ
Al 14,500 0 14,500
307 gI2Hol M 29,000 0 29,000
= 14,500 0 14,500
Al 14,500 0 14,500
02 QIZHBAAIHE X 29,000 0 29,000
OFER9 Ot XI2ALS
2,000&*145%H 100 29,000 0 29,000
& 14,500 0 14,500
Al 14,500 0 14,500
AEH)| =& THoll Hioh MHXI&AS K& 300,529 0 300,529
& 87,900 0 87,900
Al 212,629 0 212,629
301 E2E = 300,529 0 300,529
= 87,900 0 87,900
Al 212,629 0 212,629
14 JIEt2 43 300,529 0 300,529
Q20248 &8 = THol Lok HHXIE=S X
& 300,529 0 300,529
T 87,900 0 87,900
Al 212,629 0 212,629
s Hs =8 1,490,090 1,166,990 323,100
= 147,320 147,320 0
= 323,9% 231,4% 92,500
Al 1,018,774 788,174 230,600
SIIH LA 312,810 302,410 10,400
101 eI t| 100, 180 99,780 400
M IItHZ2E2SEs 100,180 99,780 400
OsIIHLUAIE A 22| 22XHHHE
AHOIEE 2 400 0 400
206 M= 4l 50,600 40,600 10,000
01 M=l 50,600 40,600 10,000
OYAUEIIH 42 L 2E 2
100,000 *500CH 50,000 40,000 10,000
S8 =IH XA 154,000 164,000 210,000
= 30,000 30,000 0
= 37,200 40,200 A3,000
Al 86,800 93,800 A7,000
405 XHobE S| 76,000 86,000 A 10,000
= 30,000 30,000 0
& 13,800 16,800 A3,000
Al 32,200 39,200 27,000
01 ML =EFSHI 76,000 86,000 A 10,000
OgX= JHE== sHIIH X& 10,000 20,000 210,000
= 3,000 6,000 A3,000




SN sHFY
I SHAMEX L sEASSH pY
o2l sIHE F8 (SH &)
M- SA(3) - MRAY - BES Ol AreH J| ¥ o Hnsz
| Al 7,000 14,000 AT7,000
QEE =I|H XA 696,700 400,000 296,700
[ 209,000 120,000 89,000
Al 487,700 280,000 207,700
402 DI2EXHE0| ™ 596,700 300,000 296,700
[ 179,000 90,000 89,000
Al 417,700 210,000 207,700
02 DIZIXHE AL E R (0IE L) 596,700 300,000 296,700
Oxss =J1H X 596,700 300,000 296,700
[ 179,000 90,000 89,000
Al 417,700 210,000 207,700
sIHEEE N 80,000 54,000 26,000
[ 20,000 13,500 6,500
Al 60,000 40,500 19,500
307 2I12t0|& 80,000 54,000 26,000
[ 20,000 13,500 6,500
Al 60,000 40,500 19,500
02 DIZHHAIAIAE = 80,000 54,000 26,000
O=JIHEE siteg 282 1
400, 0002 %2504 +80% 80,000 54,000 26,000
[ 20,000 13,500 6,500
Al 60,000 40,500 19,500
HWRES(=SFD 996,681 0 996,681
=FSPNES 996,681 0 996,681
2GH| graz 996,681 0 996,681
802 Bret 20| 996,681 0 996,681
01 2NExZ2eta= 780,051 0 780,051
O2020~20224 AR S ASAS K& Al
A ZISHRIOH A Q| X} BHEZ 157,428 0 157,428
O2023E REBSAIBIREALY EIBHAIH
o O|R} B3 134,183 0 134,183
02023 HIZIHZOHE XA EIsHArH o
OIXt ghat= 76,258 0 76,258
O2023E ZOUIRISAL ZSHAIH U 0| Bhat
2 277,291 0 277,291
O2023F ZAUXESH #HAH TSTH L 0]
Xt greta 8,334 0 8,334
O2023E M2AXSESH ZHXH 2 0K} gt
a2 15,020 15,020
OZAXEH &3 trata 2,267 2,267
O2023E EQLNR KA 2H| BHE2(8
SHEFOH Q1 O|XH) 5,393 0 5,393
02021 (01 R ) R SHHEH| MAAIA SHSHA|
ALY 24| BHEIZ (RN 9 0|Xt) 2,168 0 2,168
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2A:

S0l E
R RES(SUFD)
Sl 2HAE EERE)
SA - B S(BH) - MRAY - BES ol &b o4 /iR ClImE=T]
OSSR ALY TH| DTN o

OIRt rata 6,966 0 6,966
020233 QIROIHHIRT 22BUXIRAIY

CH FEIH o BHLO| X} 4,504 0 4,524
O3 AsHE RAKNEY A T DHR

% gl BHLOI X} 1,556 0 1,556
O3 HUHSHs VST XA &8l

Trow oI O|X} BHEHD 4,130 0 4,130
O3 HESHs SKLAUE A &

sEo gl 0|} BHE3 1,804 0 1,804
O3 HE=lol FHSOIEH ALY &

SEOH QI OfR PHEE 3,009 0 3,009
023 AR =9 24st X/ Ol

Brea 247 0 247
0023 AFSIE =& =XIRCIUI0IE XIRA

o TBEH U OR PHEE 530 0 530
OB SZQIZBHME STAY Ty

o4 gl O|X} BHE2 264 0 264
023 KA=201 HIRA XIRAY EHl &

sFo 9 0%} BHE2 2,905 0 2,905
O3 SOl QHETHHRE THEH U O

Xt erea 2,034 0 2,034
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